<t 2 EHT A BRE>

[E] ©AaEE

1| WOFHEEZE X,
1) (3x—5y)—(2x—4y)

(3) 2X+y  x=2y
2 3

—ROFF —

6 (Gx+5N-Gx-2Y)

(7) 2xx(=5yY)

5y 210
(9) g XY =Xy

(11) (-2x)*x3yx5z

2) (4x°=3x—2)—(X* +4x-3)

) 2(3x—5Yy)—4(2x—3y)

(——a) (— 7d

(10) 9x?y? =6xy +(-5x%y)

(12) (3ab*—5a’b)+ab

Se BernrsEET



2| A=x+2y, B=2x—3y DLt &, ROXEHE LRI,
2A—-3B—(A—-2B)
3| 3T XDIEDEEE FDOHDNI E—DNOET-% AN Z T2 B D713 99 THEIV Yl s =
& BRI X,
4 Emb;ﬂwﬁvgagﬁﬁém%om+%®?m 505 k Ak A & +
50D FELRFHALLE, PZTEZXTH 5 OOTE
ORIV 5 ORI/ 5 2 & e &, 12 3 4 5
6 7 8 9 10 11 12
13 14 (15 16 17 | 18 19
20 21 22|23 |24 25 26
27 28 29 30 31
5| RD%EXAE [ ] OFOTFITHOWTHET,
1 a 3+l _
u>0—3ab[m 2) R =4 [b]

i



